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237% & 1

(v) me#z?ﬂﬁ@aﬁﬁamﬁlmm%
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(vi) F¥T-GEIT 28 T 30 -3 997 & | ¥&F 9T & fog
537%F & I

(vii) STEVIHATAR T 2ol F FT B | Fooied] & g
# sArT gl 8 |

General Instructions :

(1)  All questions are compulsory.
(it) Marks for each question are indicated against it.

 (1i1) Questions number 1 to 8 are very short-answer questions
and carry 1 mark each.

(iv) Questions number 9 to 18 are short-answer questions
“ and carry 2 marks each.

v) Questions number 19 to 27 are also short-answer
questions and carry 3 marks each. :

(vi) Questions number 28 to 30 are long answer questions
and carry § marks each.

(vii) Use Log Tables, if necessary. Use of calculators is not
allowed.
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g & Afaiafeld %9 (super-cooled liquid) F AMT ST @ 2 1

Why is glass considered a -super-cooled liquid ?

fevee y9E foFg HROT gar @ 2
What is Tyndall effect due to ?

S fordl GewEeS TSk H AT WAl @, df R gt @ 2

What happens when a sulphide ore is roasted ?

T & PCl, g A a8 ?

Why does PCl; fume in moisture ?

C,H, Br F FITH THETE =[TaH FaIAF TN ?
Which isomer of C 4HgBr will have lowest boiling point ?

frefaf@a 1 TUPAC 99 faf@t

Br
|

CH3 - CI—I2 — (|) - ?H - C_Hzcl
OH Cl

Write IUPAC name of the following :

Br
|

CH3 - CH_2 o (IJ - (IJH - CHQCI .
OH (1
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7. fo=faf@a § 9 991 31 Y9 9] 8 3 &) ?
CH, - CH, - NH, 3¥@ F - CH, - CH, - NH,

Which of the following is a stronger base and why ?
CH3 - CH, - NH, OR F - CH, - CH,, - NH,

8. @a@mﬁm@ﬁq) we & 99 fafge s aEefas R
Gftel dell 1 gfaue iR eif faomas & |

Name one synthetic rubber which is resistant to vegetable
and mineral oils along with fire retardant nature.

9. frfafaa & gRem fafay
(a) Href
(b)  Triferd
Define the following :
(a) Mole Fraction
(b) Molality

10. f=fafad & 9 g% 3q=ae & U fha-i-fea-t 39y a6 @i
TS BT |
(i) TS W AR+ & Al H
(ii) UH WA Cu?t & Cu ¥

How much charge is required for the reduction of each of
the following : ‘

(1) 1 mol of A3t to Al
(i1) 1 mol of Cu?* to Cu
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11. frafafaa & wror fafeu . 2
() U fufshar § 3T ¥ 37d de Siffsrar o feer & &l |
Gi): Tl gdT § U & I IYEl T TR ¥ fou
RSl W AfuE gHE o 2 |
Har

fordt erfaferar &t 31'”\1@'@‘1?“ 3R wife (Molecularity and Order)
¥ R femd ol St & o faf@u | 2

Account for the following :

(1) The rate of a reaction does not remain constant
throughout the course of reaction.

(1) Boiling of an egg or cooking of rice in an open vessel
takes more time at a hill station.

OR

State two distinguishing features which differentiate
between molecularity and order of a reaction.

e e O

12. fr=fafed & fau sror fafae - 2
() ¥ @ fogd-smmed W sWw TR @
foreq-aTqee 3TaweH & fau saremse § e S g |
(i) Uegdifem & o § THfET & oA & fau
AR H WA T R S gy afasl SHER 98

gE 8 |

Give reasons for the following :

(i) Alumina is dissolved in cryolite for electrolytic reduction
instead of being electrolysed directly.

(ii) Although thermodynamically feasible, magnesium is not
used for the reduction of alumina in the metallurgy of
aluminium. .
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13. 39 Tk Yool ITAEF Al H18 Sl ¢ | 59 F99 H 98 FE
& fau @ Afaferad fafgu |

Ozone acts as a powerful oxidizing agent. Give two
reactions to justify it.

14. 3 frfafaa &8 o &1
() fEAfa ¥ i &
Gi)  1-SOTe & 2-SUHTer
How would you obtain the following :
(1) Toluene from Phenol

(i) 2-Propanol from 1-Propanol

15. UF 3 &1 Iufedfd # woHie & ASicision (dehydration) I
FEfafy fafae |

Write the mechanism for the dehydration of Ethanol in the
presence of an acid.

16. (a) RIS & JAA-37T5H (hydrolysis) 4 oTUfera werdf & am
fafae | '

" (b) fagerfmd C & TR IR H S F= A8 W ST Ghar ?

(a) Name the expected products of hydrolysis of lactose.

(b) Why cannot Vitamin C be stored in our body ?

17. DNA 3R RNA & & J& S 9 fafen |

Write two important structural differences between DNA
and RNA.
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18. ffafad & @ % aga® & Thadl & AW gl dgolhl &
TH-T& Y@ 3w fafen - 2
(i) Sk
) frrdd
Write the monomers and one important use of each of the
following polymers :
(1) Bakelite
(ii) Glyptal

19. T NaCl foFied & 99 2.165 g ecm™ &, d foed § Nat
FR CI™ 3Tl & o & g e Hifeg |
[QTATY] SFHT Na &1 23, Cl &1 355,
TaNal & = 6.023 x 1027 3
Find out the distance between Na' and Cl ions in NaCl
crystal if its density is 2-165 g cm”S,
[Atomic mass of Na = 23, Cl = 355,

Avogadro’s number = 6-023 x 109]

20. 298 K W Y€ I & &% T4 23-8 mm Hg & | 850 T vt
50 A AT (NH,CONH,) iell 71 & | 59 faaad & fau 5«
T I T N THH G FTHA Uiehferd SIfST | 3

Vapour pressure of pure water at 298 K is 23-8 mm Hg.
50 g of Urea (NH,CONH,) is dissolved in 850 g of water.
Calculate the vapour pressure of water for this solution
and its relative lowering. ' '
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21. TF 91 99 H IO &I%a 900 cm? B | 0-5 TR & fagq
9N I 2 U0 T& ol L IH W U W fHER H THEAE agd
stre ferar mar @ | f9eat 1 Y9 105 g em™S @ | UH W ST
fgeer Wa i qieE Ufefad wifsT |
[Ag ® T SIAH = 108 amu]

Silver is electrodeposited on a metallic vessel of surface area

900 cm? by passing a current of 0-5 ampere for 2 hours.
Calculate the thickness of silver deposited, given the
density is 10-5 g cm_3. [Atomic mass of Ag = 108 amul.

22, TH oUW FHIfC & AR 20 e § 15% [0 & St & | 39
60% TU &= ¥ fhcaa1 9w @ ?
Fga

TS W99 e F AR F60% T BN H 100 e @A € |
THH 90% qU B H AT Wy e ?

A first order reaction is 15% completed in 20 minutes. How
long will it take for 60% completion ?

OR

A first order reaction takes 100 minutes for completion of
60% of the reaction. Find the time when 90% of the
reaction will be completed

23. (a) FS USH H FAER Fieigel N FRLwrger, AT, S
B 2 | GEEREE, 9 |

(b) dEcdl W HF fogHd T FHT auf & S g | 3EH

SR HIT |

(c) SEIwOT & < SN fAfEn |
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24.

25.

(a) Some substances can act both as colloids and
crystalloids. Explain.

(b) Artificial rain is caused by spraying salt over clouds.
Explain.

(c) = List two applications of adsorption.

(a) HHdl & HASHA Y g F AT W [Ni(CN), 1%
H Sfafa 3R g Y H GUEmET | (9%, Ni= 28)
(b) oifEi ¥ weh < Tgel & AW fafay | 2 1

(a) Using valence bond theory of complexes, explain the
geometry and magnetic nature of [Ni(CN)4]2“.
(At. no. Ni = 28)

(b) Give names of two complexes which are used in
medicines.

mafi Ufeha 8sE (A), C HyBr, 7 Tehiaiell KOH ¥ sifufsra
X AfEw (B) fear | (B) : HBr ¥ sfufwar g (C) Afie w
gl 8, S (A) F 9HEFEl @ | (A) H WifsIH O § e
W A& (D), CgH, o, T g3 S foF 39 aifss & fiw @ &0
n-fed AuEe H Gfeam § AfulFar g7 T grr @ | A
(A) F TEATEE TF FRY R Tofi tfufspanei & fow et
fafae | 3

Primary alkyl halide (A), C;HgBr, reacted with alcoholic
KOH to give compound (B). Compound (B) when reacted
with HBr gives (C), which is an isomer of (A). When (A) is
_ reacted with sodium metal it gives compound (D), CgH,g,

that is different than the compound obtained when n-butyl
bromide was reacted with sodium. Give the structural
formula of (A) and write equations for all reactions.

(B) 9 PO,



26. (a) q A g § o wE & fau qHmafie gl
fafeu .

() U 3 e
(i) UfgeuH 3R SEAfeHH

(b) fa=fafad &1 TUPAC 78 faf@n 91

CH, = CH - CH - NH,,
|
CH,

(a) Give chemical tests to distinguish between the following
pairs of compounds :

(i) Aniline and Ethylamine.
(ii)) Ethylamine and Dimethylamine.

(b) Write IUPAC name of the following :

CH, = CH - CH - NH,
I
CH,

27. =1 yerd 1 § ? YAS YEN H Ueh-Ush IR ST | 3
(i) GfUYs (Antiseptics)
(ii) SR (Tranquilizers)
(iii) Cfzemifeeg (Sfasifas) (Antibiotics)

What are the following substances ? Give one example of
each.

(i) Antiseptics
(ii) Tranquilizers

(iii) Antibiotics
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28. fHfafEd 9=ET . Bx125
(2) @ ® AT ReRar H,S & 31en &e S 2 |
(b) el HEARE ¥ T9a BEHRY aga i fRarehiar dren @ |
(c) SHIfF & daee (feis) &1 %™ & § |
(@ YeEd= fae #§ fomy U Yoo STEEE adl § |
(e) 5 UeHIRE 3T TS Jad fsiclions & |

AT
(a) aﬁﬁm%ﬁ@ﬁmmﬁﬁaﬁwwﬁﬁml
(EEREE))
(b) \Xe03 9 W foar smar @ 2 efufrar 9 weg oM
| TR fAfET | XeO, F1 HTEAT T SRT | 3.2

Account for the following :

(a) Thermal stability of water is much higher than that of .

HQS
(b) White phosphorus is more reactive than red
phosphorus.

(¢) ,Ammonia acts as a ligand.

(d) Bismuth is a strong oxidizing agent in pentavalent
state. -

(e) Concentrated sulphuric acid is a strong dehydrating
agent.

OR
(a) State the conditions under which ammonia is
manufactured industrially. (No diagram)
(b) How is XeO3 obtained ? Write the related chemical

equations. Draw the structure of XeOs.
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29. frfafea & sRoT fafay 5
(a) T AATCES F THEAS FGER Tgd FS ThH-9I Br 2 |
(b) Sc(21) TF YohAT o § T Ca (20) T & & |
() Fe &l Tl H Mn F goiid a9 T aifa ifus & |
(d) THHUT UIg X 39k AfTe age IoNE & &9 H T fFU
ST
(e) W g Al (M%) & e fsard i w9 °
aeedl €
Mn?t > Fe?* > Co?* > Nitt
Fgar

(a) HIFES 3TSF U URYEH SEHMNS IdF & Juiq Fifew |
pH A9 & & god ¥ ﬁ?&m@wmﬁﬁzmww&

gIaT 2
(b) forei SifeRiTuT 3fawam & UGSl (disproportion) I
= 37 ger 8 7 UH IR o GHEET | 30

Give reasons :
(a) Chemistry of all lanthanoids is quite identical.
(b) Sc (21) is a transition element but Ca (20) is not.

(c) The third ionization enthalpy of Mn is quite high in
comparison to that of Fe.

(d) The transition metals and their compounds are widely
used as catalysts.

(e) The ionic radii (M2*) decreases in the given order
- among the following : '

Mn?2* > Fe2t > Co?t > NiZ*
OR
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(a) Describe the preparation of potassium dichromate from
chromite ore. What is the effect of change of pH on

potassium dichromate ?

(b) What is meant by disproportion of an oxidation state ?

Explain giving one example.

30. (a) UH M4 ATH (A) FHE §F CgHGO 2, 2,4-DNP
Sfyepiss F Y ARM-TS AT I 7 R I, 3 NaOH
% WY TH A W Uen SEed a1 & | g A al oM
AR & SR A & Hfer afyrde o STEET S @
st 9 & R S S R A & arr s & faieH
A 2 | HHE T ZR YO NEHHOT W TG TH
Frifrafers ST (B) X1 & fEa ST C,Hg0, 8 | (A)
IR (B) AMMR * TgEH T 3R gEg  fufpEmd
HALARY |

(b) () f=faf@a &1 IUPAC 9 faf@r

£

(i) WidfcegEe Ueeld uaq fufskar # 9 &= ==
oar ? 3, 2
Agar |

6(B) 13 P.F.0.



. (a)

(b)

(a)

(b)

56(B)

w it A (o) e s e T @ R
NaOH & @9 sfafsear g0 @ Affs (B) iR (C) s
g | AW (B) & T C,HO § 3 T CrOg W
T R YA AR (A) ST 2 | A (C) T A &
qifeam o@u 2 | (C) F HIST EH & WY TWH FH W
& WieH FREFEA (D) Fa1 2 | (A), (B), (C) 3R (D)
H AN fquifd Five | gag sifufrast o fafaw |
i) ffafea @1 IUPAC W faf@g -

(CHg)y . C = CH.COOH
Gi) aFehieT 1 e sl fafay |
An organic compound (A) with molecular formula
CgHgO forms an orange-red precipitate with 2,4-DNP
reagent and gives yellow precipitate on heating with I,
and NaOH. It neither reduces Tollen’s reagent nor
Fehling’s reagent nor does it decolourize bromine water
or Baeyer’s reagent. On drastic oxidation with chromic
acid, it gives carboxylic acid (B) having molecular
formula C;HgO,. Identify the compounds (A) and (B)
and explain the reactions involved.

(1) Give IUPAC name of the following :

CoHj
T

(ii1) Why does formaldehyde not take part in Aldol
condensation ?

OR

14



(a) An organic compound (A) which has characteristic
odour, on treatment with NaOH forms two compounds
(B) and (C). Compound (B) has the molecular formula
.C7H80 which on oxidation with CrOj gives back
compound (A). Compound (C) is the sodium salt of the
acid. (C) when heated with soda lime yields an aromatic
hydroéarbon (D). Deduce the structures of (A), -(-B), (C)

and (D). Write relevant reactions.

(b) (1) Give IUPAC name of the following :
(CHg), . C = CH.COOH

(11) Write Clemmensen’s_reduction reaction.



